Q1) Does gender impact the use of electronic mail (e-mail)?  An insurance company studied the use of e-mail in its organization by counting the number of business-related e-mails generated by 10 men and 10 women matched on job position in a day.  The data are below:
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a) Calculate the differences in the number of business-related e-mails for each male/female pair.  Just looking at the differences, do you think that men use e-mail more?  Why or why not?

b) Calculate the average differences and the standard deviation of the differences.

c) Set up the hypotheses to test whether the average number of business-related e-mails generated by men is greater than that generated by women.

d) Assuming that the data are normally distributed, at the 0.05 level of significance, what can you conclude?

Q2) It has been a widely held belief that the switch to participative management would increase employees' buy-in to the company.  One of the benefits that should be realized is a reduction in the number of sick days that employees use.  A company that has made the switch in some departments wonders if this has been true.  It decides to sample 25 employees from each of two manufacturing departments.  The first has been using a participative management style for almost two years and the second is still using a traditional management style.  The data on the number of sick days used by each employee in the past 12 months are found below:
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At the 0.05 level of significance, does the data provide enough evidence to say that employees who sue participative management styles use, on the average, fewer sick days than those who use traditional management style?  Be sure to justify any assumptions you make in selecting the test procedure you use.

Q3)

The software company that is looking at the time to failure of the diskettes (hours) it uses decides to look at an alternative supplier of the product.  The data for the current supplier and for the new supplier are shown below:

Current Supplier



Alternative Supplier
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The company has decided that if the mean time to failure for the new supplier is longer than it is from the current supplier, it will switch suppliers.

a) What level of significance would you suggest the company use?  justify your choice.

b) Assuming that the data are normally distributed, should the company switch suppliers?  Use the level of significance you chose in part (a).

c) What impact did your choice of have on the decision?

